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It is mandatory to answer all the questions.
> T A T g T 40 7

The total number of questions is 40.
> TAF T % g 1 s RatfRa g

Each question carries 1 mark.

> 98 T F forg 9 et lRg 1w € 1 579 & & 9 Ao &1 =3 fifvm )

Each question is provided with 4 options. Choose the correct option.

> TAd I F AU FIE 3 qGT Fle AT

There will be no negative marking for any wrong answer.

1. ST 6T {7 2

(The currency of Japan is):
(a) ¥TE (£)

(b) % (Franc)

(c) I (Yen)

(d) T ($)

2. 8436.58 x 402.64 FT HTT S ATF el o FIerhe ATT o0
(Find the value of 8436.58 x 402.64 correct to 3 significant figures ):
(a) 339.6

(b) 339 x 104

(c) 340 x 104

(d) 34 x 105

3. e 1 STHT HTF =X 10, 65 ATH = 13 AL AT 100 = :
(If 1 German Mark =% 10, 65 Mark= $13 then X 100 =:
(@) $1
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(b) $2
(c) $3
(d) $4

4, UF & T oA X 2.75 & T 1,100 TN FHT T & :

(If the price of 1 article is X 2.75, the price of 1,100 articles is) :
(a) 3,025

(b) % 2,750

(c) 3025

(d) ¥ 30,250

5. 0.948575 Thl AT IATAT AT & HIwrehe AATH HIF FAT 872

(What is the correct value of 0.948575 approximate to four decimal places?
(a) 0.9485

(b) 0.9486

(c)0.94

(d) 0.0949

6.29.007 H TRaeT AT HEATU g?

(How many significant figures are there in 29.007?)
(@2

(b) 4

(©)5

(d)3

7. 9403420.71 &1 €T o H=IHe FHed 9L 21T &
(9403420.71 when rounded off to the nearest hundred is) :
(a) 9403420

(b) 9403400

(c) 9403500

(d) 9403421
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8. 746.58307 Tl SITY & HT=Ihe Th shiToTU:
(Express 746.58307 correct to thousand ):
(a) 1 (10)°

(b) 746

(c) 746 x (10)3

(d) 746.583

9. 0.365875643 x 0.006453 T TCUSE HIH FIAT &?

(What is the standard form of 0.365875643 x 0.006453)?
(a) 3.65875643 x 0.6453

(b) 0.0000365875643 x 6.453

(c) 3658.75643 X 6.453

(d) 0.365875643 x 0.006453

10. TEUSE R 28.48 x 2.84 (10%) = ? (TH F HlwIF<2)
{Standard form 28.48 x 2.84 (10> ) = ? (nearest lakh)}
(a) 80.7 lakh

(b) 81 lakh

(c) 79.7 lakh

(d) 80 lakh

11. HFT=ra fafer 31T (8906)2 FT HTH 36 AT o Hl=IHe g[IT:

(The value of (8906)2 correct to million by using contracted method will be) :

(a) 79 x 106
(b) 7.92 x 106
(c) 792 x 108
(d) 79 x 105

12. 7T< 8 UTSE = 4.56 A[2¥, AT 800 UT=< &:
(If 8 point = 4.56 litre, then 800 point is equal to ):
(a) 364.8 12X (litre)
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(b) 3,664 =X (litre)
(c) 456 <A1 (Litre)
(d)zTH T TS T-Ffr (None of these)

13. HF=a fafer & 964.564 x 0.765 FT AT T THAT & &l TIHI dH g :
(The value of 964.564 x 0.765 correct to 2 places of decimal is) :

(a) 73.789

(b) 737.89

(c) 7378.92

(d) 737.9

14. 6.2403378 T 37.4935 | |4 & T=Ihe T IT:
(The value of 6.2403378 by 37.4935 nearest hundredth):
(a) 234.95

(b) 233.97

(c) 23.397

(d) 2.3397

15. FT HEATY 2: 3 % ATATT H & A 370 a3 [ =¥ 320 | HLATU &

(Two numbers are in the ratio of 2:3 and the difference of their squares is 320. The numbers are):
(@) 12, 18

(b) 16, 24

(c) 14, 21

(d) Eﬂ'ﬁqﬁéﬂﬁ(None of these)

16. X 90 JT TSI sl X & 842 T T A T
(The price of 842 screws@3 90 per dozen will be):
(a) 6,315

(b) ¥6,319.5

(c) 75,780

(d) 63,150
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17. 4305.7988 Tl TH ZATL o HIwIeha SA<h hiTolU :
(Express 4305.7988 correct to ten thousand):
@ao

(b) 4305

(c) 4395

(d) 4305.7988

18. A ST B T AT 3 : 2 o AT § AT T 5 : 3 % AT § gl TS TAF X 1,500 TATAT & AT B =l 311 -

(The income of A and B are in the ratio 3 : 2 and their expenditure in the ratio 5:3. If each saves X 1,500,
then B's income is) :

() % 6,000
(b) % 4,500
(c) % 3,000
(d) % 7,500

19. 76.512328 FT HIA U Z9HA T & AFE 5

(The value of 76.512328 correct to one place of decimal is) :
(a) 76.33

(b) 76.6

(c) 76.00

(d) 76.5

20. T SARIT =T AT 5:7 % AT H gl 18 TT T ITe0T 311 8 : 13 o AT | AT, qT ITh! aqHTH 311 (AT
ﬁ')%’:

{The ages of two persons are in the ratio 5:7. Eighteen years before their ages were in the ratio of 8 : 13,
their present ages (in years) are}:

(a) 50,70
(b) 70,50
() 40,56

(d) TTH T FIE T-ngr (None of these)

21. AR x+y =303 x:y =3:2 ATXFTH & :
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(If x + y =30 and x:y= 3:2 then the value of x is):
(@) 30
(b) 20
(c) 18
(d) 12

22. 7S 4 AT T GoF 6 AT F FLTE &, 3 TAT T o 20 eI F ToF F a9 af i 10 GEI T o7 16
HHAT o a2 Ol AT (a0 & 51T 1 502 T Jod #9720 99 1 HAAT FT T I17 8 ?

(If 4 horses worth 6 cows, 3 cows worth 20 sheeps and 10 sheens worth 16 lambs then by chain rule what
will be the price of 1 horse if 1 lamb's price is X 17 )?

() X 340
(b) X 272
() X 68

(d) T 2720

23.7,92,348 FT ToF ZS(TL & Hieldhe (HaTiory:
(Write the nearest value in thousand of 7,92,348 ):
(a) 793 ST (thousand)

(b) 792 STX (thousand)

(c) 7923 BSTTX (thousand)

(d) 79 ST (thousand)

24, T, T A TR 5:4:1 F STATT | ATH HT A7 Fd 8 3T X 40000 At TSt & ZEHT THEH Fd 8
SR EIREHIERI S CIEIR RIS

(Ravi, Prakash and Vinod share profits in the ratio 5:4:1 and start business with a capital of % 40,000.
Calculate the capital contributed by each.)

(a) 20000, 16000, 4000
(b) 14000,14000, 12000
(c) 13000, 7000, 20000
(d) 5000,20000, 15000

25. HravAvE it qaT 8

(The currency of Netherland is):
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(a) &1 (Krone)
(b) FATTA (Florine)
(c) ﬁ'(g‘cr(Dirham)

(d) &1 (Quan)

26. AX 10T AT A X 1,245, A 1 AT FT A & :
(If price of 10 g is X 1.245, then the price of 1 kg is ):

(@ 1,245.0

(b)X 1245

(c) X 12.45

(d)X 1.245

27. 93% TH T wTe< T 3T & 517% FAVeT HLITHT oot T o g :
(The price of 517% litre kerosene oil @ 93Y4 paise per litre will be):
(a) T 4,821.54

(b) X 48.21

(c) X 482.57

(d) % 4,825.70

28. T ATICTART [STHH Teh & T AT TGN Al DHIHT &1 s Lo, FRATAT G

(The table showing the value of articles from 1 to 9 is known as......... ):

(a) TATIE T{eTT (Table Nine Value)
(b) =Y aTferT (Nine Table)
(c) ﬂﬁ%wﬁ%ﬁﬁr (Frequency Table)

(d) TeTATH= qTersT (Comparative Table)

29. X 38 YT w(1e< #f 3T & 50.5 Fie¥ T FT ToF gT:
(The price of 50 litre of milk @38 per litre will be):
(a) T 1,919

(b) X 1,900

()X 191.9
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(d) X 1,938

30. U TSI AT T JoF ¥ 7.50 § AT 101 I €3l AT Tod T :

(The price of one dozen articles is  7.50, then the price of 101 dozen articles will be) :
(@)X 775.50

(b) X 767.50

(c)X 757

(d) X 757.50

31. 7f3 U 19 T (7 X 3.50 AT 110 T T 187 20T

(If the price of 1 lemon is X 3.50, then the price of 110 lemons will be ):
(@) 350

(b) X385

(c) ¥353.5

(d) ¥ 3,850

32. 9. UH. T. %l q&T &
(The currency of U.S.A. is) :

(a) TTeZ (Dollar)
(b) TTE (£)

(c) I (Yen)

(d) %7 (Franc)

33. % 100 T oI = T < 140 T Foha &t = o =7 ey s & e s o sy =1 sfma 2w <
110 Wt FRAT B2

(In what ratio should tea worth X 100 per kg be mixed with tea worth ¥ 140 per kg. so that the average
price of the mixture be X 110 per kQ):

(@21
(b)3:1
(c) 3:2
(d) 4:3
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34, U 99 H X 56 ¢ ST Uk &9AT, 50 99 U4 25 T & g o 7 & g1 50 T aver g it "y 25 99 a1
Torggt Y g | T i U w0 F Rt & = T ) 99§ 50 T % g v qear g

(A box contains X 56 in the form of coins of one rupees, 50 paise and 25 paise. The number of 50 paise
coins is double the numbers of 25 paise coins and four times the numbers of one rupee coins. The number of
50 paise coins in the box is ):

(a) 64
(b) 32
(c) 16
(d) 14

35. Ife q¥aE § &4 AT G4 X 1,410 I 10 ITH T, T va H SHHT Tod q1< | Tid 39 Jq130 et 1379 =
480 UTH 3T X 1 = 3/40 9IS (£) BT:

(If in Mumbai price of gold X 1,410 per 10 gram find its price in London in £ per oz, if 1 0z = 480 gram and
X 1=£3/40):

(a) £5.076
(b) £ 5076
(c) £72.06
(d) £ 710.2

36. T2 X 100 = 6 T, X 10 = 1.25 S(AL, qT 300 HIE & TLEL &
(If 100 = £6, X 10 = $1.25, then £300 is equal to):

(a) $625

(b) $62.5

(c) $.625

(d) $640

37. Ao o & w71 3a91 &1 & foraar & 5:6 -

Which one of the following ratio is the same as 5:6 -
(a) 25:30
(b) 20:18
(c) 15:20
(d) 20:35
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38.%7=0.52519IE, ATX 700 & ........... qie gl
(IfX7=£0.525,thenX 700 isequal to £............ ):

(a) < 52.5
(b) < 525.0
(c) <5.25

(d) < 3,675

39. TS HT TS

(The currency of England is) :
(a) ST (Dollar)

(b) WT< (£)

(c) 3% (Franc)

(d) AT (Mark)

40. TN HEATY 7:8 % ATATA | | TT< T | 3 STE AT ST A7 ST AT 8:9 BT ST 2| HeAT &

(Two numbers are in the ratio of 7: 8. If 3 is added to each of them, their ratio becomes 8:9. The numbers are
):

(a) 14,16

(b) 24, 27

(c) 21, 24

(d) 16, 18
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